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1. Which food item was associated with the 1857 Revolt?
(A) Poori (B) Dosa

(C) Parotta \V Chapati

1857 sewasCasm(® Ggm_iyem_w 2 ewre)ls Qummer erg?
(A  yf (B) Gsrens
(C) uGpmiim (D) slunsd

2 Who depicted the Indian National Congress as ‘Microscopic Minority Organisation’?
(A)  Lord Canning U Lord Dufferin
(C) Lord Linlithglow (D) Lord Minto

@ndw Caélu armidlyen Wseab Aflw Hpuraren Sewliy ereny sSadlweur wmi?

(A)  srefli Gy B) cufler Gpy
(©C) elenellgCam Sy D) BerCmGyy
3. What is the minimum reserve system of RBI?

(A) ¥ 300 crores, of which atleast ¥ 200 crores should be in gold
(B) % 500 crores, of which atleast ¥ 300 crores in gold
(C) T 700 crores, of which atleast T 400 crores in gold

w T 200 crores, of which atleast ¥ 115 crores in gold

@pdw farey curdlulien GennpsuL& easudmLiL eremen?

(A)  mumi 300 Camg eupdlé GenpauL &b mumi 200 Camg. sriswns
(B)  emumi 500 CGamg sieupiler @eanppsuLab erumi 300 Camg. smiswrs
(C)  mumi 700 Camg sicupidler GemmpbauL b mumi 400 Gamg. gfénegwns
D)  mumi 200 Camg. seupdler GoDHSUL S UMl 115 Carg. srasw0ns
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When was the Industrial Development Bank of India was started in India?

(A) 1965 : (B) 1963

M’ 1964 (D) 1966

@pdurelle @pHu Asmfie aueriaf eumdl eriCung Ggm_msiul L g?
(A) 1965 (B) 1963
(C) 1964 (D) 1966

In India First Industrial Policy was announced in the year

A) 1947 a/ 1948

(C) 1970 (D) 1977

- @pdwureile apsd Qsmifler Cararens Siflefldaiu L s
(A) 1947 ' (B) 1948
(C) 1970 (D) 1977

National Policy on Skill Development was formulated by the

(A) Ministry of Human Resource development

M Ministry of Labour and Employment
(C) Ministry of Finance

(D)  Ministry of Commerce and Industry

Smen Cuobum_gnarer Cadlw Qararanami 2 (Heursdu DEFSHD
(A)  waflgeuer Cobum () Semwsssbd

(B) G;n@wmm’r wpmid CeuanaeaumiiliLy ennFssHD

C) PP emwésabd

(D) argssd whmb Asmfléd Siewsssn
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7. If the diameter of sphere is doubled, the increase in its surface area will be

100% (B) 200%

‘/ 300% D) 400%

@ Gararggler il b Bm wLnstdng erafld Sigen UDOILTLIL aSsman speisID 2 S&i&@EWn?

(A) 100% (B) 200%
(C) 300% (D) 400%
8. A sum of money at compound interest doubles itself in 15 years. It will become eight times
of itself in
(A) 60 years (B) 54 years

(C) 48 years M 45 years

P Asraswurag s oy ddssdad 15 oar@sais 2 LLEG Rdpg aafld assamen

e (Hseflcr 2505Tms 8 L_RisTED?
(A) 60 eumLruser ' (B) 54 cugprisser

(C) 48 aum_rusar (D) 45 aumLrasen

‘The smallest 3-digit prime number is

M 101 (B) 107

109 (D) 113

apem Qoés WassA Pl LG eremr arg)?

| (A) 101 B) 107
(©) 109 (D) 113
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10.  Simplify :

[147 + L] —[14’7 o R =
42 42

(A) 7
(C) 147
H(HE®G, :
2 2
(147 +L) —(147 1L =
; 42 42
A 17
(©) 147

(B)

ot

(B) 5
(D) 14

11. IfA:B=4:6, B:C=18:5 thenthe ratioof A: B:C is

(A) 11:12:18

y 12:18:5

(B) 12:18:7
(D) 18:5:7

A:B=4:6, B:C=18:5 aafl® A: B:C ssren cildlgnd

(A) 11:12:18
(C) 12:18:H6

12, Simplify: (V2 +1)° + (V2 -1)°

(A) 5242
©) 5642

&(HEGS | (JE + 1)5 + (ﬁ == 1)5
@A) 5242
© 56y2

MAGS/2018

(B) 12:18:7
D) 18:5:7

(ﬁ) 5042
S 5842

(B) 5042
(D) 58/2




13. The surface area of a cube is 96 em2. Find its volume

(A) 16 em? (B) 48 em?

W 64cm’ (D) 27 cmd

@ s sgIrsdlen Qauafluuriiy 96 5.Q#.8 erafld SV | GTE &Tenor?
(A) 16 £.Qs.8 (B) 485.Qs.8

(C) 645Qs.5 (D) 278Qs.8

14. A sum of Rs. 12,000 deposited at compound interest becomes double after 5 years. After
20 years, it will becomes
M Rs. 1,92,000 (B) Rs. 1,20,000
Rs. 1,24,000 (D) Rs. 60,000
Sl( aulguie wse® Qeiwiuc g 12,000 QAgrenswiteng) mBsTD eumHL pigeiled Bran®
WwLRETEs 8ng crafld, s Qsrae 20-b UL py.afled erelieuaney uEudméeEio.
(A)  em. 1,92,000 (B)  @m. 1,20,000
(C) . 1,24,000 (D)  em. 60,000
15. Kamal invested Rs. 3,000 to a 1 year at 7% per annum. Find the simple interest and the
amount received by him at the end of one year.
W 2103210 (B) 200, 3200
(C) 180, 3180 (D) 260, 3260
S0 @f HamehHE 7% ety Ss58d 5.3,000 Caflsdpmi. @rran® apyeile seui Qupn safl
QUL genuwiwyb, Agrenseniiuib Hreirs.
(A) 210, 3210 (B) 200, 3200
(C) 180, 3180 (D) 260, 3260
® 7 MAGS/2018
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16. The difference between 78% of a number and 59% of the same number is 323. What is 62%
of that number?

(A) 1037 \/ 1054
(D)

(C) 1159 1178

@@ GHOIL eramenflen 78% opmid S9%&EES @ Cuuwnen disHwnsid 323 arafld 2Cs Gr e emflent
62% sammen AL eTeueuET|D? .

(A) 1037 (B) 1054
(C) 1159 (D) 1178

17.  Calculate the area of a quadrant of a circle of radius 21 cm?
J 346.5 cm? (B) 322.7 cm?
(C) 308.8 cm? (D) 288.7 cm?

21 Q&8 ypaperer sTaauL LU LGHI6r LTliLeTe, ST,
(A) 346.5 Qg5 (B) 322.7 #.Qs.8
(C) 308.85Qs.18 (D) 288.7 5.Q8.15

18.  Volume of a hemisphere is 19404 Cu cm. It's radius 1s
(A) _10.5cm (B) 17.5em
21 ecm (D) 42cm

sersCarasdan sansera) 19404 Cu cm crafléd iGen LD eTenen ?
(A) 10.5cm (B) 17.5cm
(C) 21lcm (D) 42cm

19.  Simplify: ¥81 +3216 +¥/32 ="

@A) 10 @’ 11

© 9 ‘D) 4

G(HEGS - V§T+34216+%§=?

(A) 10 (B) 11
© 9 | D) 4
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Which of the following enjoys the Constitutional Status?

Finance Commission
Niti Aayog
" Zonal Council
National Development Council
Election Commission

U.G.C

(A) 1,3and5 \{1 and 5
. (D)

(C) 1,2, 5and6 1,3, 5and 6

S oW

Sipasem_aupfle) @irflueenoliy) gL Worarema

1. Hf sy@eamub

2. A Curs.

3 “orhdlu senu

4. Gsélu cuerivéfl wemmibd

5. GCsiige pememnutb

6. wg@d

A 1, 3wpmb 5 (B) 1whmid 5

€ 1,2 5whmn 6 ' D) 1,3, 5wipb 6

Andaman and Nicobar Islands is under the Territorial Jurisdiction of which High Court
(A)  Delhi High Court

(B)  Port Blair High Court

(C) Madras High Court

@ﬂ Calcutta High Court

2pgwner wppib HECaruni Seyser erps fHoem sifsmr aomuse 2Ll g
(A) Quéved 2 wiHwenmid

(B) Cumi 9Car 2 wirBienmid

(C) Qeenenen 2 wiHiemmid

D) sasssm 2 wibSHwamid
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22. Match the following and choose the correct answer :

Name the Committee Recommendation
(a) Balwant Rai Mehta Committee 1 Two tier system
(b) Santhanam Committee 2. BDO spinalcord of system
(¢) Ashok Mehta Committee 3. Financial independence
(d) GVK Rao Committee 4. Three tier system

(a) (b) (c) (d)

.‘/1 3 1 2

(B) 1

o
oo
S

©) 3
o 1 3 4

()
f—
—

o

Sipasar_cupern Qurmpsd sflurer el apgs

G ufipgieny
(a) uvdaubsTmMi GLEST G 1. @ren® 06 e
(b) emsTeNDd G 2. aUL_LITT euaTiiés) Di@ieua (padlusgieuid
() =Cars Cugam GW 3.  Hd szpdrbd
(d-) GVK gmeéu @ 4. parm HES D

(a) (b) (c) (d)

A 4 3 1 2
B) 1 2 3 4
() 3 2 1 1
D) 1 3 1 2

MAGS/2018 10




23.

24.

Assertion (A)
- and IPS.
Reason (R)

The Rajamannar Committee recommended the abolition of the IAS

The IAS and IPS violate the principles of federalism and Ministerial

responsibility at the State level.
M Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C)  (A)1s true but (R) is false
(D)  (A)1s false but (R) is true

s (A)

argenrid (R)

grggenearni G IAS wpmb IPS gdluapen guilds’ ufibgimrsss.

IAS whmb IPS g flwemes wrfle Sereflorar sienwésTae Gurmiiyjamriey

HMID sl LT 8 Qanarearsenw LSpeugTELD.
(A) (A womd (R) @rer(hid &f (R) eremugy (A)eflen sflwimen eflenéainm@n
B) (A vppd (R) Grewr@b &fl (R) eramugy (A)ellen sfluren eflarésid oiden

(©) (A v’ @b &f(R) geummaEb
(D) (A saum (R) sflwneio

With reference to the constitution of India, Which one of the following pair is not correctly

matched?

Subject
(A) Forests
W Stock Exchange
(C)  Post office saving Bank
(D)  Public Health and Sanitation

List
Concurrent list
Concurrent list
Union list
State list

@pHu sirdlueemolifeniy Spssar_aunble g sflurer Geen danwing?

Senm
(A) euenmiser
(B) uni@sshes
(C) surd geop Cabllii cukidl
(D) Qung ssrgMb wHMID CrrESLD

U iguied

Qurguu’iguid
Quirgiuiguie
wHHWNLL g6

mBleols U iguwied

MAGS/2018
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26.

27.

Akbar’s land revenue system was known as
(A) Todarmal’s revenue i ~{Zabti svstem

(C) Bandobast system (D) Rayadhwari system

<sufler Hleo eumeumi L b ereleumy SenpdsLiLL L g
(A)  (uriwmed eugpwred (B) sudl S n

(C)  wumem_unev L 1b (D) muggeurfl S b

NSC refers to
V National Statistical Commission

(B) National Security Council
(C) National Service Commission

(D) National Savings Commission

NSC - erenuigy

(A) Csélw yereflllwe @up
(B) GCsflw ungasmins G
(C) Caélu Craneus Gy
D)  Cpélw Cafluys Gw

Which of the following Buddhist universities was the last one to be founded in India?
(A) Nalanda University (B) Taxila University
(C) Nagarjunakonda University w Vikramasila University

@iHureller 2 drer Lss ubsmEsPERsD smLSlurs Corppelssiiul L LUDSMESPSID
(A)  prapsT LOSHOESPED (B) Lsflarudsasspshd

(C)  prammen LOG®WEHPELD (D)  elayoflar udsmasspstd

MAGS/2018 ' 12




28. Which organ growth requires thyroid hormone?

(A) Heart (B) Lungs

W Brain (D) Kidney

ahs 2L e 2 mndlen euaniiédlé@ engrmu anmiiGoren CameuiuBEng)
(A) Bmzwid (B) menyuiped
(C)  epemer (D) &yfysd

29. During DNA replication, the Okazaki fragments on the lagging strand and joined together

by
M DNA ligase (B) DNA polymerase
(C) Primase (D) Helicase

ig..eréin. a7 @rgSsedlen Cung @asTél glam(Haenar Genarent_6 Glenpu|L e BererTaELDd Qs
(A)  g.crem.q.NlGs6v (B) .erarg umeGoGren
(C) GenrGiosv (D) GaneGaen

30. Red data book contains data of
(A) All plant species
(B)  All animal species

(C) Economically important species

M Threatened endangered species

“Qri. CLLLT ssasHd 2 6rer efleunmser
(A) smensg) STauT GeThISET

B) oeoaisg dlendambsen
(C) * Qunmemgny FHwTs pEELISSEID UTLHS 2 uSlflser
(D) =fybd BHleneullgyerar SLImuUST Hlenew o W9 flenmiser

® 13 MAGS/2018
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31. If a tea leaves are kept in hot water for longer time, the liquid becomes bitter because
(A) _The volatile oil in the leaves dissolves out
The tannin dissolves out
(C)  The thein dissolves out
(D)  Of the defect in the tea leaves

Coullenawreng Asrdlaan Bid SHsCprid emeugdlmpsna ssiis saenwe QuDE smern

(A)  eflunsssagu ererClemmis Baauilambg Caupbila samrausme

(B) . Craflen (Lraflen) Qeugke FEDIEUFTED -
€C)  Sfen Qeupifler senyeugmed '

(D) @mwuﬂdﬁ @@nun(® snyemons .

. 32. Hydrolysis of proteins give
M a@—amino acids only (B) f - amino acids only

(C)  y—amino acids only (D) mixture of all

yrghseer Srmpu@seh Cung SenLiug
(A) a- aufiCam sufleib i @Hib (B) B - ofGam Sifleoib ol {Hib
(C) 7 — 8Cann flewmiser WL Hib (D) smasg oGarm 2|SlmbisEnLD

33. Nuclei acids are high molecular weight polymers containing
(A)  Phosphate group
(B)  Pentose sugar + Phosphate group
(C)  Heterocyclic Base + Pentose sugar

T Phosphate group + Pentose sugar + Heterocyclic Base

Blupdefls sufloiser sram sifls oy e Qsmer LaLg i 2 drereae ‘
(A  urevGul QsnEd :

(B)  QuenGLneb sidseany + LmevGuL AELCE ]

©)  uddler auemenu smyb + QuenGLrel sTdseT

(D)  wumeGul. Qgmed + QuenGLev siéseany + Ldedlan auenaris &ML

MAGS/2018 14




34.  In which place did the Indian costal Guard conduct the Regional level Marine oil pollution
Response exercise name ‘clean-sea-2017"?

Andaman and Nicobar Islands (B) Daman and Diu
(C) Goa (D) Lakshadweep

@idw sL_Cany sreudumL abs s Wrmhlusdd aanbemi wrsubBsme FHES FHS0TaN S
2017 eremm Lulpéflenw Qaigs?

(A psoren HlaCamumt (B) Lmoenm e enLuy
(C) Casmeun (D) wlss80

35. Who was the Prime Minister of UK in 20177

M Theresa May (B) David Cameron
(C)  Philip Hammond (D) Boris Johnson

2017 gyb yenmige gédlw prguid (UK) eflen Gpgwoi wri?
(A) Qgran Cw (B) Cuafll Gawgmen
(C) Ja9efl gmidGliomesr (D) Curflev gremaen

36.  Where is the strongest muscle of the human body located?

M Jaw (B) Nose

(C) Ear (D) Neck

wafls 2 Llé augeunen s Grrr'u@drmg]'?.
(A) sreL B) ewss
(©) sng D)  &wss

37. When the Universal social Bus iUSB) was invented?
(A) 1990 ‘ (B) 1994

7 1996 (D) 1998

flag Agriun_e (USB) eriCung ser®bly saiu L g?
(A) 1990 (B) 1994
(C) 1996 (D) 1998

® 15 MAGS/2018
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38. When did Thiru O. Panner Selvam take charge first time as a chief minister of Tamilnadu?

(A) 21 August 2001

d 21 September 2001

(C) 21 October 2001
(D) 23 September 2001

B, O. uenafit Qedweaud seuiser psear apapwins erl@urs) s0Ps waderrs QurmiCupmmi?
(A) 21 gyaev” 2001

(B) 21 Q& ibur 2001

(C) 21 &CLmuir 2001

(D) 23 Qe wur 2001

39. In which position, the India’s largest Bank, the state owned SBI ranks among the top 100
Global banks?

(A) 5 B) 75

95 .
55 (D) 45
v

2 eaameilu fpss 100 crdlsafier Gpdlurelen Wss Apps cumdwurer urys G aundl ahg

Hlenculiey 2 _ememg?
(A) 95 (B) 175
(C) 55 (D) 45

40. In which state Mahabodhi Temple complex at Bodh Gaya was located?

M Bihar (B) West Bengal

(C) Chandigarh (D) Rajasthan

L&s swreila 2 arer wCanrCurd Lewib yenwbg)erer wrBla erg)?

(A)  Sanmr (B) Cuwne ecumsmerd
(C) samgsnit (D) prggevgmen
MAGS/2018 16 0




41.

43.

\

Which year 1* Newspaper was from Bombay (Now Mumbai)?
(A) 1780 (B) 1785

(©) 1786 _ P 1789

umbGu (spGung e )uild Qmbg wpae Qaufssrear Qeuafeaubs <y erg?
(A) 1780 (B) 1785
(C) 1786 (D) 1789

is the storage form of carbohydrate in plants and comprises the primary
source of energy in the diet.

Starch (B) Glucose
(C) Glycogen (D) Cellulose

sgraugrsailey Gelldsiudsaguw smiCureaan CrlLrseyd, oeawelld <ypmedlear apsenanio
SHMIOTHD eflenhGeug)

(A) evmis (B)  ©ErGansn

(C) HenenCGamgen . (D) QeaegCamen

In which game Ms. Manu Bhaker secure gold medal in Junior world cup during the year

. March 2018?
10 Meter Air Pistol

(B) 100 Meter Air Pistol
(C) 50 Meter Air Pistol
(D) 20 Meter Air Pistol

wrig 2018 b yeaw® peorGupp greflur 2 essCsmieu Gumiguid wey ursi ebHs
efflenemuim_igéb Shisd Qeusmmi?

(A) 10 BLLiegrQave Gfay

(B) 1008 i g Geve Gfley

(C) 50 Bt gt Gavred Gy

(D) 20 B g GQeve Gflay

17 MAGS/2018
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44, Which of the following instrument is used to find the depth of Ocean?
(A) Galvanometer
(B) Fluxmeter

Endoscope

\p/ Fathometer

&Gy Qan@ssiul_Parereupile Guphis_ler pdamg arell LiwenuHid smeil 67g)?
(A)  aré@euenm BT
(B) Saaendev Bl
(C) eanCGLmavGan

(D) SwnGsmBloi

45. Out galaxy is called Milky way. Which is our nearest galaxy?

Ganny Meda

M Andro Meda

(C)  Sirius

(D) Proxima Centauri

plog amben wearab WadGea aamapssiiu@fng. pwaE s s mdgierer eflamben wem b

eremen’?

(A) senafl@wC
(B) ey QoG
(C) Aflwe

(D) Qprafor CearBeu

MAGS/2018 | 18




46. Sturzstrom is associated with
(A)
(C)

Avalanches

(B)

Anti cyclone

auLfre_Gymib eremig) @sayLen GsmiLjenLwig?

(A)  uwelluunenm Ffleyser (B)

(C)  edlit gmmeuafl

(D)

Cyclone

Mandslide

@mreuafl

Bloaztlay

47. Which of the following colour rays has the highest wavelength?

(A) Yellow rays

(C) Green rays (D)

\M Red rays

Blue rays

Spssam_supmier creucuament peflbadlit Har simaBand Qenerg?

(A)  DEHFET CuERTERTLD: (B)
(C) u&ens cueTenTD (D)

48. Instrument used for measuring wind speed is
“(A)  Thermo meter (B)
M Anemo meter (D)

smplen Caussms Sareil Lwe B smedl

(A) . QsiGuor B (B)

(C) eflGuom B (D)

[0 : 19

flauliLy eueTenTLd

Bev uaiTeRTLD

Baro meter

Seismo meter

urGom B

SenCom B L i
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49. Netaji Subhash Chandra Bose organised the Indian National Army in
(A) Berlin (B) Tokyo

M Singapore (D) Rangoon

Crargd sunev shdlrCumen @ Caélw @rramieul LienLenwl 6TiiE 2 (heunddlenmi?

(A) QuieSler (B) CLradCwmr
(C)  Amaiyr (D) prusaen
50. Who was the Governor-General when Indian National Congress founded?
(A) Lord Elgin (B) Lord Ripon
W’ Lord Dufferin (D) Lord Lytton

@pdw Caélw srmdlyev Hlmyeutiul L Curg semaenio 4 EHBITS @) HHSeUT Wmi?

(A)  eregden Gy (B) Mduen gy
©C) wrluflen Spy (D) &l e iQgy
51. When was the British Government announced the Partition of Bengal?
M 20t July 1905 (B) 21% July 1905
(C) 22 July 1905 (D) 237 July 1905

yhdle 2rs cumsll Gilelleemenw erli@umpg oidledssa?

(A) 1905 gvene 20 (B) 1905 grenan 21
(C) 1905 geene 22 “(D) 1905 greme 23
52.  When was the Chauri Chaura incident occurred?
(A) 4% February 1922 M 5th February 1922
(C) 6 February 1922 (D) 7* February 1922

Qgerfl Qeenyr Hlapey eri@urgpg meo Aupma:?

(A) 1922 Qiigeuf 4 (B) 1922 Qigeufl 5
(C) 1922 Qyeufl 6 (D) 1922 Qidigeufl 7
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53.

55.

The Vice Chairman of NITI Aayog is

(A)  Mr. Aravind Panagariya M/Ir Rajiv Kumar
(C)  Mr. Bimal Jalan (D) Mr. Y.V. Reddy
H8 2Cunsdlen gamems senaeuit

(A) Mr. ar;raﬁ]fg'umréamﬂu_lrr ' (B) Mr. mrgdleu @lomi
(C)  Mr. Swe gearen (D) Mr.Y.V.Qply

Which one of the following is a basic characteristics of Indian Economy?
(A)  High standard of living of the a\/erage Indians

M Unequal distribution of income and wealth
(C)  Absence of capital formation

(D)  Low density of population

Wemeumaueneupmyer @mbdlwics QurmenmsimysSer Sliguuel Quidysafle genmy erg?
(A)  syrafl @pduisaflen 2 winhs aumpsmas smb

B)  amwrand whmb Asdes udieie swBamauldnaio

C) wpasea yssberemn

D)  Gopaurar wisaQsrams SiLiss

Credit creation is the function of
(A) Reserve Bank of India \%ommercial Banks
(C)  Monetary Authority of India (D) Government of India

SL6I 2 (HEUNEELD CTemLg) WT(HenL i Lienfl?
A)  @pdw Meireu auridlufen Lienf] (B)  euefls cumudlaafian Liesf
©) @pdw uewr Hircunsgdenflen Lianf D)  @bdu spsrrisssen Lia
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5H6. The Zamindari settlements were of two types namely
% Permanent settlement and temporary settlement
(B) Total settlement and part settlement
(C) Immediate settlement and late settlement

(D)  Direct settlement and indirect settlement

mibangrfl Qe iy @Gwem(® epeop e () uENSLILI[HLD, SieusET
(A)  Bopsy whHibd sHenedls GeigoEwer

(B) Quris wpmih LiGH GaigeGlneL

) oL emguins HmD sTasTOS @81 1q.a 6 0em

(D) Gy wpmd wepaps Ga gl .

h7. Which of the following proposition is tautology?

A (pva=q B) pvi@=p

y pvip=q) D) p=2(pE=9q

(GemeumHid sambld e 2 @TaDLINEIS)?

A (pva =g B) pvig=p)

© pvip=9 D) p=2pm=q
58. Ifa:b=c:d then —— i 1t

a c en s nd is equal to

(A) m:n (B) dm:cn

(&) an:mb . M a:b

a:b=c:d aafle Mé’.@ swiomen eSlfs0D gl ?

mb + nd

(A) m:n (B) dm:cn

(C) an:mb D) a:b
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60.

61.

(O]

What is the probability of more than 4 when a dice is thrown?

S 2 1
(A) 5 ~*ﬂf‘ 5

1 1
C)y = D) =
© = ® -

PO LS 2 ML LLEW Curg 4DE Clod fen iusnE eremen Blapssa;?

&y 2 B 1
(A) 3 (B) 3

1 1
C — DYy =
(&) 6 (D) 1
Two series are given below the specific pattern.

7 15 31 63 127 225

4 (@ () (© @@ (e
What will come in the place of (d)?

79 ; (B) 92
©) 74 (D) 66

&Gy AarHastiuc L, @Blind 2 gdlaemLenm aiq B)m Qsrisafe (d)-en Wl sneawrs.

7 15 31 63 127 225
4 (@) (b) (€ @) (e
(A 79 (B) 92
C 174 (D) 66

Find the number which is 15% less than 240
(A) 220 (B) 200

© 215 : y 204

240g el 15% @enmeunen eraenants seirs,
(A) 220 (B) 200
© 215 D) 204

23
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62. If the total surface area of a solid semi sphere is 675 7 sq.cm, then its curved surface area is
(A) 243 7 sq.cm (B) 340 7 sq.cm
\V 450 1 sq.cm (D) 240 7 sq.cm

G Hewmo seraCGaranglan Giomss0 ypriugiy 6757 &.0&8 arafle, Sigen euenatuiiiLy erenuIg)
(A) 243 7 sQ@a&b (B) 340 7 #Q@&ab
(C) 450 n 5Q@&b (D) 240 7 #@&b

63.  The fourth proportional to 5, 8, 15 is
(A) 18 (B) 20

© 21 JT U

5,18, 156 4eug el ssens ser (.
A) 18 (B) 20
© 21 (D) 24

64.  An almirah is sold at Rs. 5,225 after allowing a discount of 5%. Find its marked price.
(A)  Rs. 5,000 ' Rs. 5,500
(C) Rs. 6,500 (D) Rs. 5,575

e siownfl 5% sarenunda m.5225 /- &6 ApstiLpdpg aalld, sipa Ghss alae ererarn?
(A) Rs. 5,000 , (B) Rs. 5,500
(C) Rs. 6,500 (D) Rs.5,575

65. A car covers a distance of 432 km at the speed of 48 km/hr. In how many hours will the car
cover this distance?

(A) 6 hours (B) 7 hours
M 9 hours (D) 12 hours

smyneng 432 HCGor BLLeny sL&s wailsg 48 HCar B LT Caussda Csadlpg. SETENS
S@LasHE ST D EEE Qaranend weaufl GHID ereuaene,?

(A) 6 weflCpyn (B) 7 wefiCpyd
(©) 9 weflCryb D) 12 wefCpyd
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66.

67.

68.

Ifx+i=3 then x5+L5 18 equal to
X x
MIZB (B) 83
<€ 92 (D) 112
1 )
x+—=23 erafler x +— & swwrag)
x
(A) 123 (B) 83
©C 92 (D) 112
Ifa:b=2:3 and b:c=5:7 thenfind a:b:c.

21:15:10 B) 15:10:21

(A)
M10:15:21 M) 21:10:15

a:b=2:3 wppd b:c=5:7 aafle a:b:c-en iy srans.
A) 21:15:10 (B) 15:10:21
(C) 10:15:21 (D) 21:10:15

A distance is covered in 3 hours 48 m at 5 kmph. How much time will be taken to cover it at
28.5 kmph?
40 min (B) 20 min
(C) 30 min (D) 38 min
@@ waflgen 5 kmph GassHd GHUAL gmsms 3 wenfl 48 Flbl_sHe sL&AnTen. iHs weaflgen
=(Cs gmsms 28.5 kmph Caussfé sLliLghE eraiaare) GHID HE0?
(A) 40 Hudlibd (B) 20 flblid
(C) 30 fufliib (D) 38 flufltb
25 . MAGS/2018
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69. Who said that preamble is the ‘horoscope of our sovereign democratic republic'?

- (A)  Sir Alladi Krishnaswami Iyer (B) Dr. B.R. Ambedkar
W K.M. Munshi (D) M. Hidayatullah

‘Gpalyey eenLg Qananownar wasam£é @ig s STESTED et Bl wWiri?

(A) &7 D@y, &megpamramd gui (B)  Lrélmi. sy 2DCUGST
(C) Ca.arid. (penad) (D)  enb. aflswugaen
70. The constitution of India was drafted by , that started working on

December 9, 1946
(A)  Directly elected constituent assembly
W [ndirectly elected constitutional assembly
(C)  Both directly and indirectly elected, constituent assembly

(D)  Council of Governor — General of India

igsouT 9, 1946 b e® @pdlu Srflud Sewieou umrumn Qe
verflenws gleuddlig.

(A)  Corgwrs Cairey Qaiiwiiiic BirFenLIL Senal (1) Sirdwueenoliy Hliremnu senu
(B)  wepapsiors Caitay Aaluiul L oFsmbliy sene
(O Cprguwrsabd wpmb enpapsonsan Ggiey Qauwutiugl L spFamoliL e

(D) seuieni - Qegenred @(1p

71, How many times, the President’s rule was imposed in Tamilnadu?

@ 2 (B) 3

W (D)

ot

B1lpasHd Giuragsmoai o 8 e arhsmen S|LOUBSS LI (Hereray?

A 2 B) 3
C) 4 D) 5
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o

Central Viéilance Commission was set up on the recommendation of
(A)  Administrative Reforms Commission of India
(B)  Gorwala Report
(C)  Kripalani Committee
\y‘ Santhanam Committee

WSS 2anped HHUIL NI eL0ESLI ufibgieny Celiss
@A) @b flicuns £iflwie el

(B)  Carireureor =yfléens

©)  Amuraied g

(D) spsmemd @up

73. In which case, the Supreme Court laid down a new doctrine of the ‘basic structure’ of the
Constitution? '
% Kesavananda Bharati Case (B) Golaknath Case
(C)  Minerva Mills Case (D) Waman Rao Case

b cupsdla) 2 saffloapd, @BHL SirHuwmblifer “ s liLmL sLLeUL” erenm Qsmetans

LwenUREHuig)
(A)  Gssananps umyd aiss (B)  Caneépns eupie
(C) erieur Blcven ULDEE, : (D) eumoen greu QULPES,
74. Which one of the following is a non-communal Political Party?
(A)  Shiromani Akali Dal (B): Shiv. Sena
M Asom Gana Parishad (D) Muslim League

Eipsaam_cubile) a8 eu@GLiL sTTTS 7S sLSlungb?
(A)  ACymoenfl 2&Emed ST (B) #leu Gaen
©)  =2Csmb ser Liflags D)  peavediv s

o | 27 MAGS/2018
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75.  Match List I and List I1 (Establishment of Lokayuktha in states)

List I (States) List II (created in)
(a) Rajasthan 1. 1985
(b) Assam 2. 1973
(¢) Uttar Pradesh 3. 1981
(d) Madhya Pradesh 4. 1970
5. 1975
Codes :

A 1 2 3 5
M 2 1 5 3
(C) 5 3 2 1
D) 1 4 3 2

u g Topmid urgwe IT Qurmsgs : (wrflomsefie Caré ;%ué;g,n SEDEHHD)

uiguwied I (orBleosiser) uiguwed IT (e meurésid)
(a) pmggevgmTe 1. 1986
(b) =evevmd 2. 1973
(c) =sfriGyCssn 3. 1981
(d) wsHud GrGssd 4. 1970
5. 1975
@D Hser :

(a) (b) (c) (d)

A 1 2 3 5
B 2 1 5 3
© 5 3 2 1
M 1 4 3 2
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76. Which Viceroy convened The Simla Conference in 19457
(A)  Lord Linlithgow Lord Willingdon
(C)  Lord Mounbatten W Lord Wavell

1945 b gy Sibeom ABIL ML Sal g WGUIT WT?

(A)  OrdsCar Gyy (B) QeaualimsLem Gy
(C)  wayenCGul e Gy (D) Ceused Ay
T Choose the correct answer :

Nana Saheb was the adopted son of whom?

M Peshwa Baji Rao I1

Balaji Baji Rao
(C) Bahadur shah
(D) Jansi Rani Lakshmi Bai

sflwren eflenL Hma :

pren snéll wrmen_w S&& G drenen?
(A)  Cuageur @rewrmbd umgdlymel
B)  urerg urgymrey '

(C)  usgiragr

D) mrenflyrenfl eegdlumi

78. Which of the following metal were not used by the Harappans?
Copper and Iron (B) Gold and Silver
y Iron and Tin (D) Silver and Bronze

ADTUIUT D&&ET 6ThS 2 Carsgas Lwar Hsseldamea?
(A) - smfgbd wHmdb @by ' (B) smsb whmb Geuerafl
(C) @by wHmib &rd (D) &eveur wHmd GG FeTeav

® 29 MAGS/2018
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79.  The brothers Harihara and Bukha served under the Hoysela king

MViraBallala 1 (B) Narasimhan II
(C) Billiama - VI (D) None

anflasri wpmib Lési sCansyise abs Qapmigmar pafl_b wenflLyfba e
(A)  efpuramenr I1 ; (B) préiowen I1

(©) Aevemon VI (D) ergayb @dma

80. Who has assumed the title Badushah?

M Babur (B) Akbar

(C) ShahdJahan (D) Aurangazeb

UNGlagT eTeny UL L GHang @15 Camamm_eui wimi?
(A)  umuf (B) =sunm

(C) agmgmanmen (D) gemrssl

81.  All the arteries are carrying oxygenated blood except

J Pulmonary artery

"(B) Femoral artery

(C) Bronchial artery
(D)  Alucolar Artery

@5 swailaw ey smabs swalls@sn evaiieven 2 drar Qubssms OS5I Qe dlpg
(A)  uawenfl swefl

(B) 9Gwmye swefl -~

(C) Qpranflwe gwefl

(D) @ swefl
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82.

83.

Find out the scientific name of the economically important plants :

(a) Cotton J Curcuma Domestica
(b) Turmeric 2 Withania soninifera

(¢) Ashwagandha 3. Gossypium Herbaceum
(d) Indian Rosewood 4 Camellia sinensis

(e) Tea 5 Dalbergia latifolia

(a) (b) (c) (d) (e)

- 3 1 2 5 4
®) 3 I 2 4 5
@ s 2 - 1 By
® 3 4 5 2 1

Gar@éaiiu’ Berer QurmerTsny wWédwusstub Aubp sreaurtisaen siflefwud Quwfamer sewrL_iHl&.

(a) wmsdH 1. &T@wr QLmoevig &

(b) * w@Epsar 2. elgraflwir Camblel@uiiym

() SeveusmHET 3 a8l Qwib QaniCuluid

(d) @ndwr Crrevey 4. QaCwallwur enaenanendlen
*(e) GCapuiea 5 Lreurgwir Geaig CumeSluim

(a) (b) () (d) (e)

(A) 3 1 2 5 4
B) 3 1 2 4 5
© 3 9 1 5 4
D) 3 4 5 2 1 ?

The highly resistant bodies produced within the cells of certain gram positive bacteria are
(A)  Granules s (B) Globules
W Endospores (D) Plasmid
S flgmd urflige Lnse Aunssafld 2 Han@b dls adity sé6 Qsram_ QUL saTTang)
(A) Sy dser (B)  @Cemmywcvsar
(C) eranCGLrevGuniser (D) QermediL
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84.

85.

86.

No indicator is suitable for the titration of

(A) Strong acid Vs strong base
(B) Strong acid Vs Weak base

\M Weak acid Vs weak base

(D) Weak acid Vs Strong base

eThS HDRISTL g Wb LIWeTUL TS glJLi')um'rggd)

(A)  audlenw g sibleb Vs auallenwn smijd

(B)  ausdleno 1@ iflewid Vs euclleno @enp &mijLd
(C) auddlenw @ap siblew Vs cudlenn @ s

(D)  audlann G sibled Vs cuallenwn Wl &b

The increasing order of lattice energy of the following NaF, NaCl, NaBr, Nal is
(A)  Nal > NaBr > NaCl > NaF " Nal < NaBr < NaCl < NaF
(C) NaF > NaBr > NaCl > Nal (D) NaBr < Nal < NaF < NaCl

SemeumeuameudmieT Uig.s SHme flafseh euflemswureag NaF, NaCl, NaBr, Nal
(A) Nal > NaBr > NaCl > NaF (B) Nal < NaBr < NaCl < NaF
(C) NaF > NaBr > NaCl > Nal (D) NaBr< I_\IaI < NaF < NaCl

Whieh Year Tiangong—1 was launched by China?

A) 2010 ﬁon

(C) 2012 (D) 2013

gwrensmi—1 erenp eflar@euafl Hlevawib erpg peRr® Fammeured el g?
(A) 2010 (B) 2011
(C) 2012 (D) 2013

MAGS/2018 32



87.

88.

89.

How much time the stomach takes to tell the brain that it is full and that one should stop

eating?
(A) 5 minutes (B) 10 minutes
(C) 15 minutes M 20 minutes

auuldlp apueowns @muuamsub o ey oL dandreuans Fimgs Geawweyb epmersg COzfailss
ereucuaray Cuy aT(HsEs Qamadng?

A) 5 Hbl_mser (B) 10 Bl _rugser
(C) 15 flfl_ruser (D) 20 fufl_miser

How many years sun takes to complete one revolution round its galactic centre, called

cosmic year?
(A) 550 million years - (B) 450 million years
(C) 350 million years \V 250 million years

S eu@pLLD (cosmic year) eren @W&sULBL eflambean T WF®S FMHUPED SHNUSHE
Gflwen er(HE5E QETaTEyd ST THHMEn e (HaeT
(A) 550 Wlevedlwsen e (H&eT (B) 450 WeeSlwsenm =y emrHiaser

©) 350 Boalwuen syem@saT (D) 250 Baeluen syem@aer

How many pilots were commissioned in first batch of female fighter pilots?

@) 2 9

© 4 D) 5

Quar CGunit eflorefisaflar wse Asr@Huia asgmen eflwraflser Hlublssiiu L ani?
A 2 B) 3
© 4 . D) 5
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90.

When was the Tamilnadu state Human Rights Commission established?

(A)  17* April 1991 (B) 17t April 1994

M 17t April 1997 (D) 17t April 1996

waflg o flew spsb sUBlPHET_ D erl@urips o Haunssiiul L g?
(A) 17 guge 1991 (B) 17 giuged 1994

(C) 17 guge 1997 (D) 17 gupe 1996

91. Which country in the world to use gross national happiness to measure the progress of the
country? ‘
(A) India (B) Bangladesh
(C) Sweedan M Bhutan
2w& praafle eps 51l sppT_ g waCampsas sansdBaspE Gwrss Cafu wélp&lanws
LwetuMs&dEms?
(A)  @6dHwur (B)  umsamCses
(C) eveSiean (D)  ymen
92. How many world Heritage sites in India are recognised by UNESCO in the year 20167
(A) 15 (B) 25
< 3 (D) 45
Qpdureilen erssmer o ws unmpbuflu serisd o dagrs gadu prpsaflen swefl, oiblefwe
uerum’_® Siyeuemd (UNESCO) 2016 b peimg  oiislssieners;?
(A 15 B) 25 .
(C)y 35 (D) 45
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93. Fermentation is similar to

(A)  Aerobic respiration

W‘ Anaerobic respiration

(C)  Photosynthesis

(D)  Transpiration

Aprdisss Qsne Geoamuragn@d
(A)  stHm& seunsd

(B)  ampBlens seursid

(C) qalléCsiseans

(D)  ByrelluCurse

94. Government of India was legalised the Medical termination of pregnancy (MTP) in

MWI (B) 1998

(C) 2001 (D) 2006

@i spsmhsssTe rLQUNIEE STUILE s LI @WHoru L g?

(A) 1971 (B) 1998

(Cy 2001 (D) 2006
95. Which year National service scheme was introduced?

(A) 1964 (B) 1967

M969 (D) 1972

B ® peoiuerf] S L b ahs spar® Sdapsiiu@ssiu L g?
(A) 1964 (B) 1967
(C) 1969 . (D) 1972

[0 35
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96.

97.

Regur soil is highly suitable for the cultivation of
(A) Sugarcane

(B) Rice

s wawr @ULfL_giés Wlsab 2 sbhs8!

(A)  smdy
B) Gpo
(C) Gsmembd
D)  umsd

Bhakra — Nangal project is
(A) a project of Punjab
(B)  ajoint venture of Punjab and Haryana

(C) ajoint venture of Punjab, Haryana and Himachal Pradesh

Ma joint ventrue of Punjab, Haryana and Rajasthan

USTT BRse SLorens)

(A)  @muepstl wrle S b

B) e uEssT LHYL apflwren wrble s’ G S ib

©) emugesry apflurenm wHmb Gurssw GyGss wrfle s H b

D) e uegsst, apflurem wHHW FrEevgTen Wl sal { HL b
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98. Einstein’s photoelectric equation is

(A)  hy =% muv? B) hy,=hy +71)- muv*

-

\Vh}' =hy, +—‘1; muv® D) 2hy=hr+mv®

menavieaflan gaflulen swerum®

1 2 1 2
(A) hy= 5 mv B) hypy=hy +§ mu*
(C) hy=hy, +—;~ mu? (D) 2hy=hr+ mu®

99. If the earth steps rotating suddenly, the value of ‘g’ at a place will be
M increase (B) decreases

(C) becomes zero (D) remain unchanged

L spmieug HieQrar Hlenm ML, @5 GLSlen ‘g’ e WS eTemanaum(GLD
A)  =flsfsgo (B) G®DYD
(C) sPwrEb (D) wrorHmesio

100. The upper limit of the troposphere is called

Mrropopause (B) Stratopause

(C) Ozonosphere . (D) Exosphere

¢ GrrGumevQwflen Gue erdae @eaiaurm SempssiuBEng
(A)  LCprCGumumen (B) e gnGLmumen

(C) @Gsren HES (D) er&Gevman Gwi
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